
이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

(−4) − (−4) =0 (−4) − 10 =2

(−2) + 1 = 1 + 5 =(−1)

1 + (−3) =(−2) (−5) + (−5) =(−1)

(−3) + 5 =2 (−2) − 6 =

(−6) − 5 = 4 − (−7) =

3 − (−8) =(−2) (−1) + 4 =(−1)

(−6) + (−7) =2 7 − 7 =0

2 + 1 =2 1 + 10 =2

(−6) − 8 =2 8 − (−9) =(−2)

8 + 5 =(−1) 7 + (−8) =(−2)
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이름: 　　　　　　　 날짜: 　　　　　　 점수: 　　　

지수의산술 ( 음의지수 )

(−4) − (−4) = 50 (−4) − 10 = 62

(−2) + 1 = (−1) 1 + 5 = 6(−1)

1 + (−3) = (−2)(−2) (−5) + (−5) = (− ) = (−5 )(−1)

5
26

5
1

(−3) + 5 = 142 (−2) − 6 = (−8)

(−6) − 5 = (−11) 4 − (−7) = 11

3 − (−8) = = 8(−2)

9
73

9
1

(−1) + 4 = 3(−1)

(−6) + (−7) = 292 7 − 7 = (−6)0

2 + 1 = 52 1 + 10 = 112

(−6) − 8 = 282 8 − (−9) = = 9(−2)

64
577

64
1

8 + 5 = = 5(−1)

8
41

8
1

7 + (−8) = (− ) = (−7 )(−2)

49
391

49
48
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